UNIT-6 FROM ZERO TO INFINITY
CHOOSE THE CORRECT SYNONYMS FOR THE UNDERLINED WORDS...
1. It is_absurd to wear acoat in such hot weather.

a. unreasonable b. sensible c. wise d. logical

2, The landscape seemed to stretch into infinity.

a. limitation b. endlessness c¢. bounds d. transcience

3. The Adventures of Sherlock Holmes is an
a. boring b. dreary c. fascinating d. dull

4, Lydian Nadhaswaram is a child _prodigy.
a. average b. idiot ¢ fool d. genius

5. Vignesh lived in a dingy room.
a. dark b. bright c¢. clean d. radiant

6. The garden looks unkempt.
a. tidy b. not neat c. stylish d. wellgroomed

7. Tom was an uncouth young boy

a. classy b. graceful c. uncivilized d. elegant

8. The judge dismissed the evidence as conjecture.
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a. proof b. truth ¢ fact d. speculation M



9. The professor found some discrepancies in Aswin's research.
a. variations b. correspondence c. similarity d. sameness
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10. Nethra is a _distinguished  military officer.
a. insignificant b. eminent c¢. ordinary d. unknown

11. The hungry cat was devouring fish.

a. abstaining b. avoiding «c¢ consuming d. refraining

12.  After reaching the destination, Rathi disembarked the

train.
a. board b. embarked ¢ got on d. left

13. Sasi is ill and _emaciated.

a. haggard b. healthy ¢ fat d. strong

14. It was _agonising to climb the mountain.
a. comfortable b. happy ¢ painful d. delight

15. Many people are suffering economic _hardship.

a. ease b. ocrisis c¢. advantage d. prosperity




